o EASE

o /U HTTOEA
Y =] _ o
e o UHIREMESMHIWEEL S SHH T
MEAFT
@
WASE
DAY — M2y ho@ BMEA-OET

HEHSETE

A: FeesiEx  TA)
B: Fd~i&%x [BJ
C:fERI>Y—hr2EL F35X0.5mmBlt

=R LDER
1 > 8 — bOABERORARCDONTEELRIENEZISNEITDTHBI TN LTHSRELTILE,

O SEME
ABS RUBDRR— b

mE
~LZ (N-m) 5158 (N) MLZ2 (N-m) 5158 (N)
UD-43001 1.6 1471 2.2 1667
UD-43501 2.6 2648 3.4 3423
UD-44001 3.3 2844 3.9 3852
UD-45001 6.5 3726 7.8 5198
UD-46001 8.8 5394 11.8 6865




o TiER

UDIV (DL hS5H—HKN)

L

C:EH >YU—r2RELTSX
0.5mmi t

<S4 X M2x0.4
S D1 D2 L A B ALK
UD-42001 3.6 3.1 4.0 6.0 3.2 8,000

RZHPAL4X M2.6x0.45 (M2.5%0.45)

A B FAH

UD-42601

7.0 4.0 3,000

y

P44 X M3x0.5

HE D1 D2 L A B A
UD-43030 4.6 3.9 3.0 7.0 4.0 5,000
UD-43040 4.6 3.9 4.0 7.0 4.0 5,000
UD-43050 4.6 3.9 5.0 7.0 4.0 4,000
UD-43001 4.6 3.9 5.7 7.0 4.0 3,000

gy ;=

Y4 X M3.5x0.6
Bh & D1 D2 L A B A
UD-43501 5.6 4.7 7.1 8.5 4.8 2,000

HE

D1

D2

A B AR




& D1 D2 L A B FAH
UD-44058 6.4 5.5 5.8 9.5 5.6 1,500
UD-44065 6.4 5.5 6.5 9.5 5.6 1,000
UD-44001 6.4 5.5 8.2 9.5 5.6 1,000

.

24X M5x0.8

& D1 D2 L A B AR
UD-45058 7.1 6.3 5.8 11.5 6.4 1,500
uD-45001 7.1 6.3 9.5 11.5 6.4 800

y

24X M6%1.0

i3 D1 D2 L A B FAAEL
UD-46065 8.6 7.9 6.5 14.0 8.0 800
UD-46095 8.6 7.9 9.5 14.0 8.0 500
uUD-46001 8.6 7.9 12.7 14.0 8.0 400

y

RIYALX M8x1.25

D1

D2

FAAE

UD-48001

D1

D2

FAAEL

UD-41001

11.8

11.0

12.7

23.5

11.2

800

. W

FUNV (52289 hS5H—RN)



*ZSYA4X i3 D3 D2 D1 L1 L2 t AL
M3x0.5 FU-43001 5.5 4.6 3.9 6.3 5.7 0.6 3,000
M4x0.7 FU-44001 7.0 6.4 5.5 9.0 8.1 0.9 1,000
M5x0.8 FU-45001 8.0 7.1 6.3 10.6 9.5 1.1 600
M6x1.0 FU-46001 9.5 8.6 7.9 14.0 12.7 1.3 300
M8x1.25 FU-48001 12.0 10.4 9.5 14.0 12.7 1.3 1,000




